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/**
*
*/
function main(chartView {
/| debugger ;
/1 sQL
var data = get AreaSunVal ue(chartView);
if (!data || data.length < 1) {

return;
}
/1 DOM
var domutils = jsloader.resol ve("freequery.lang.donutils");
var vTail El e = domutils. findEl enment ByBofi d(chart Vi ew. get Context().elenmVTail, "vTail");
I
var rows = vTail El e. get El enent sByTagNane(" TR");
for (var i = 1; i <rows.length; i++) {
I
var row = rows[i];
var sunVal ueTd = row. firstChild. nextSibling;
sunval ueTd. firstChild.innerHTM. = data[O0][i - 1].displayVal ue;
}
I

var hi ghMap = chart Vi ew. get Chart Obj ect (). getChart();

var text2 = highMap.renderer.text(vTail El e. outerHTM., 10, 370).css({
col or: '#4572A7",
fontSize: ' 16px’

}).attr({
zl ndex: O
}).add();
I
/**
* SQ_
*/
function get AreaSunVal ue(chart View) {
/1 SQ

var yearVal = chartVi ew. get Context (). getCurrentParanval ue("");
var nonthVal = chart Vi ew. get Cont ext (). get CurrentParanVal ue("");
var util = jsloader.resolve("freequery.comon.util");
var ret = util.renotel nvoke("DataSourceService", "getDataByQuerySql", ["DS.northw nd", "select SUMT7.
Quantity * T7.UnitPrice * (1 - T7.Discount)) as F1, SUMT7. Quantity) as F2, SUMT8. Freight) as F3 from orders
T8 right outer join orderdetails T7 on T8.OrderID = T7.OrderI D inner join maparea T6 on T8. ShipCity = T6.
c_title where left(T8. OrderDate, 4) ="'" + yearVal + "'" + " and substring(T8.OrderDate, 6, 2) ="'" + nonthVal
+ "', 0, 1000]);
if (ret.succeeded && ret.result) {
var data = ret.result.data;
return data;
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/**
*
*/
function nmain(chartView {
debugger;
/1 HTML
var gridHTML = ['<tabl e border="1" style="border-collapse: collapse;">, '<tr><td col span="2" align="center"
></td></tr>', '"<tr><td align="right"></td><td>1</td></tr>", '<tr><td align="right"></td><td>2</td></tr>", '<
/table>]1.join("");
/1 HTML
var hi ghMap = chartVi ew. get Chart Qbj ect (). get Chart();
var text2 = highMap. renderer.text(gridHTM., 130, 330, true).css({
col or: '#4572A7',
fontSi ze: ' 16px’
}).attr({
zlndex: O
}).add();
/1 SQ
var data = get AreaSunVal ue(chartVi ew);
if (!data || data.length < 1) {
return;

}
/1 DOM

var donutils = jsloader.resol ve("freequery.lang.donutils");
debugger;
var vTailEle = text2.elenent; //
var rows = vTail El e. get El enent sByTagNane("tr");
for (var i =1; i <rows.length; i++) {
/1
var row = rows[i];
var sunVal ueTd = row. firstChild. nextSibling;
sunVal ueTd. first Child. nodeValue = data[O][i - 1].displ ayVal ue;

I
/**
* Sq_
*/
function get AreaSunVal ue(chartView) {
debugger;
/Il SQL
var yearVal = chartVi ew. get Context().getCurrentParanval ue("");
var nont hVal chart Vi ew. get Cont ext (). get Current Par anval ue("");

A1

if (rmonthval 10) {
nmont hVval "0" + nonthVval;
}
var util = jsloader.resolve("freequery.comon.util");

var ret = util.renotel nvoke("DataSourceService", "getDataByQuerySql", ["DS.northw nd", "select SUM T48.
Quantity * T48.UnitPrice * (1 - T48.Di scount)) as F27, SUM T48. Quantity) as F26 from orders T49 right outer
join orderdetails T48 on T49.Order|I D = T48. Order| D inner join maparea T47 on T49. ShipCity = T47.c_title where
left(T49. OrderDate, 4) ="'" + yearVal + "'" + " and substring(T49. OrderDate, 6, 2) ="'" + nonthval + "'", O,
1000]);
if (ret.succeeded & ret.result) {
var data = ret.result.data;
return data;
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	地图分析使用浮动表格展示各地区汇总值

